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This question paper consists of Three groups (A, B & C). Question no 1 to 90 i.e Group A are
compulsory. Question no 91 to 100 i.e Group B. Question no 101 to 110 I.e Group C are related to

Rajbhasha and optional. Candiﬂates are advised either to attempt question no 91 to 100 i.e Group B or
Question no 101 to 110 i.e Group C related to Rajbhasha.

All the questions have equal marks. There shall be negative marking for incorrect answers. 1/3 of the

marks allotted for each question will be deducted for wrong answer.

The candidates may answer any questions of any group by writing the Group code and guestion number

for identification.

Hindi translation of question is available and candidates can also answer in Hindi.

Candidates are advised to write the answer of question carefully in the answer sheet only.

Answer once written, modifying / erasing / cutting/ scoring/ off ticked the answer in anyway foverariting
answer in multiple choice and ticking another answer is not permitted. In case any correction is made,
answer will not be evaluated and no marks will be allotted against the particular answer of multiple-

choice question.
Indication of name or any other identity of the candidate either in question paper or in answer shegt

except in the columns provided on the fly leaf of the answer sheet is strictly prohibited.
Use of mobile phone, calculator, etc is strictly prohibited. Instructions mentioned in answer sheet are to

be followed.
In case of any dispute in question, English version will prevail.
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GROUP A / TU9-T

As per Testing Criteria of Toe Load on ERCs, which one of the following is correct
a) Testing be done at a frequency of 4 years or passage of 100 GMT
" b) In corrosion prone areas every year testing be done
c) If 20% of results (verified by 5% sample) are less than 600 kg TFR proposal be initiated
d) TFR proposal be initiated if 20% of results (verified by 5% sample) are less than 400 kg

i.

ol W T WS & e R F e, Prafefem § @ # @ wdt @2

T) ST 4 | H G A1 100 Sfewdt F qifm @ @ s =fen

@) SFT V=T ST H & 91 Gl R s itk

) IR 20% RO (5% T TR FaARE) 600 FEm & W & a1 Auwar gE gF A
1) Atk 20% RO (5% TR TR FAfa) 400 Brm A Fw & @ Auwmaw ywa gF fHar am

2. Formation cross slope shall be 1in

a) 10 b) 20 - c) 30 d) 40
TRIFYA Y W9 139 g
T) 10 @) 20 ) 30 &) 40
3. Overhauling of track is essential because it improves:
a) Longitudinal resistance of track b) load bearing capacity
c) Drainage d) Longitudinal resistance of track -
& B el AT § FHiS 9 GUR g 8 .
1) &F 7 IgeeA shed i) WR T g
&) o Pt 9 3 ¥ g ol
4. In through packing, ballast should be opened out on either side of rail seat to a depth of
a) 15mm b) 25mm c)35mm . d) 50 mm.
T & AreEm §, W 9 F 261 o B 1w _ 7% P gl ot T
T) 15 foreft at) 25 Pt &t 35 Brft #) 50 frdt
5. Whi-Ie doing slewing operation, angle between planted crow bar and vertical of rail should not be more than
a)10 " b)20 c) 30 - d)so
R SHRe O T AR A AN AR A B A A § s @ g =i
Y1 . 4 20 - #Wha3o ) 40 .

6. During deép screening, it should be ensured that when ballast is being removed from any sleeper, invariably,
there are at [east fully supported sleepers between it and the next sleeper worked upon.

a)2 ' b) 4 )6 d) 8
e TR ¥ e 7z gRfEm B o fe o B @ frd Pl o o @ whe, f—mamm%} wH ATy 3

F_ i d aniha e iR e s woan
92 ) 4 @ 6 & 8

7. The schedule of inspection of ADEN for manned level crassing is

'a) once a month b) once in 2 months c) once in 3 months d) once in 6 months
Hiageh 9HIR F T ADEN % Priteror =57 srdey 2 . ; .
T) T 7 TF 91 &) 2 787 ¥ uF an &) 3 78R § @& 9] ) 6 7ER ¥ TF ar



8. If a patrolman on the arrival at the end of his beat does not find the next patrolman, then he should

a) continue patrolling as per patrol chart.
b) Continue further and report to the SM
c) Wait for him

d)Suspend the traffic _
AR UF T T ST 912 F 3T H 0 TR IFT I g T8 O €, A IW

) YR IE F SR T S
&) amt ol W 3R g i Ko w¢
&) % Rre &=t
EVE GlRiGRERIEG]
9. The PWI incharge should check over patrolling at nights by train once a
a) Fortnight b) a month c)aweek - d) a year
reargeng w1 O 9R 29 Q Ta § 7 B o A AR .
) qEErst ) T 7 SRS - EwEad
10. In cuttings and high banks trolley refuges should be prévided at ___m intervals.
a) 50 b) 100 c) 150 ~d) 200
FfEm ok wr§ A7 F A e ® iR R Suemr Hg SE e |
) 50 © #1000 #) 150 &) 200

» . Sample size for measurement of toe load of elastic clip is - g
a) 1% of ERCs randomly on every 100 slegpers '
b) 2% of ERCs randomly on every 100 sleepers
¢) 3% of ERCs randomly on every 100 sleepers
d) 0.5% of ERCs randomly on every 100 sleepers.

R g ¥ 21 @i ¥ 119 & e T A @ -
) 9T 100 FHGH T Facdta &7 § 1% Lt
) g@F 100 TG TR Faa 37§ 2% St
o w@% 100 o R Fadta 31/ 3% Famd
) 7% 100 TR R Facdia 37 ¥ 0.5% Famti

12. The check rail clearances in BG turnouts and L-Xings are —

a) 41-45mm and 51-57 mm respectively
b'{gadlmm and 48-51 mm respectively
¢) 48-51mm and 63-68 mm respectively
d) 63-68mm and 76-80mm respectively
BG zam3z IR L-Xings ¥ 9% @ FI4W © -

w) FA: 41-45 el 3R 51-57 frdt

) Fwer: 38-41 Preft 3l 48-51 ol

) wwwr: 48-51 frdt 3t 63-68 Brdt

&) Fawr: 63-68 Bt 3ik 76-80 fwft

13. While lifting the track on a gradient, the lifting should proceed -

a) from downbhill to uphill
¢) from both the ends towards a central meeting point

¥ ) Ao W Jor aua [AfF i 3rt g =g - -
1) T § S H AR ) FTRIFA Hr3iv

rh)ﬁﬁﬁﬁﬁw%ﬁuﬁﬁ?ﬁgﬁaﬁt st) T F W T v

b) from uphill to downhill
d) It does not matter.




14. What is the minimum herizental distance of a platform coping (goods or passenger) from the adjacent track
centre?

a) 1670mm b) 1690mm c) 840mm d) 760mm
T o % A (I A1 AT) FTGFEA A q ©eHA HFAGH Gt g0 71 €2
1) 1670 Pt ) 1690 Frdt 1) 840 faf

15. What is the maximum distance apart of trolley refugees in tunnels

a) 50.5 mts. b) 50 mts. c) 80 mts. d) 100 mts.
gam # gieft sonfdat & s aftway i fradt @
T) 50.5 Hiex ) 50 Htex

#) 760 fadt

) 80 ez &) 100 HiZ

16. What is the minimum height of the bottom of an ROB in AC traction area from rzil level in mm?
a) 5870 b) 5500 ° c) 5460 d) 5200
wElt w7 & 7 U AR F o B aw A aw & 9w (Ref)
1) 5870 #) 5500 ) 5460 #) 5200

17. For all routes identified for running 22.1 axle load wagons, sleeper density of

maintained.

__nos./km must be
a) 1560

b) 1620 ¢) 1660 d) 1600
22.1 TFH S8 7 T9H F o 9w 1 woft wmt % R, ©iw aw

___ nos./km =10 @& AT il
T) 1560 #1620

) 1600

18. The width of ballast shoulder to be provided on the outside of the curve in case of LWR is provided on T
curve —

@) 1660

a) 500mm b) 550 mm ) 600 mm

d) 650 mm
o & arex gt 8 1 Sers w2 At T TRT LWR F 7@ § 58 R werm fran s & -
1) 500 freft ) 550 firdt ) 600 forft-

19, The maximum cant that can be provided on BG has to be
a) 150 mm b) 165.mm

' c) 200 mm d) 240 mm
At QT U it ST G aTelt AfSFaT ST ol 9t
U) 150 FAet 4t 165 frt &) 200 fdt
20. The Recommended yard gradient for new lines in B.G.
a)1lin 200 b) 1in 400 c)1in 1000
dirstt % 7% arAr & forg sgviie ard e |

T) 200 F 1 #t) 400 ¥ 1

#) 650 frht

#) 240 firedt

d) 1in 1200

o
o) 1000 F 1 3) 1200 H 1

21. 20 Kmph caution order is prevailing at a deep screening spot. The caution indicator board should be fixed at
adistanceof _______ |

meters from the work spot as per IRPWM
a) 400 b) 600

c) 800 d) 1200
ﬁqﬁﬁﬁﬂwmzowuﬁﬂ%ﬁmﬁmﬁmﬁﬂmmﬂ%q@mﬁaﬁim#mﬂm
o g fﬁaﬁ{ﬁwmmﬁmaﬁmmaﬁq

T) 400 #t) 600

& 800 g1) 1200

22. Gauge is measured
a) 10mm

9 & o9 & A
m) 10 frft

mm below rail table.
b) 13mm ¢) 15mm

r _ d) 18mm

frft | e 1 ‘
-4t 13 fipft #) 15 et 2 18 Brfi
-4

ol

\,'Si:s
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23, Laying tolerance of sleeper spacing are

a)£20mm b) £ 2Zmm c) #15mm d) 10 mm
whmr @fir i e ofew &
1) + 20 Frt EUE AL ) « 15 faft M + 10 il

24. The Railway affecting tank which still requires heavy repairs, despite repeated reminders of Railway, should

be considered and included in the list of __ locations.
d) Waste

a) Vulnerable , b) Bad c) Important
T F AT T A 3F A1 9 F a-an g e F ez et i ard e &1 sarrEen &, 78 9t
foan ST =R o5& __ wri Y gl 9 e e s =)

T) FASR ) @ . iy wEey 41) wrfure
25. In PQRS working, Auxiliary track should be laid at a gauge of

a) 3400 mm b) 1676 mm c) 5400 mm d)4400 mm

‘ﬂﬂm(PQRS)%ﬁwﬁ.mzm%ﬁamhmmml

©) 3400 Rrft ) 1676 Frft ) 5400 frft #1)4400 Fen

26. The flagman placing detonators should station himself at a distance not less than m from the place of

detonators.
a) 100 b) 45 c) 1200 d) 600
T @ T R R IR F A I F AT ... e & g w gz #1 & T 91
v Q100 @) 45 & 1200 #) 600
' 27. Indicators shall be placed on the side as seen by the Drivers except on CTC
sections (Single line)
a) left b) right c) centrally d) oblique
et AT (T 9T) F Biga g0 @0 3@ TQ FHaH A T T e
Q) g #) = @ EF e ) e
25. Whistle Indicators should be provided at a distance of m.
a) 500 b) 400 ) 600 d) 300
& T #tex F gl | ITTH FAC T AT
T) 500 4 400 1) 600 1) 300
2"£.¢The life of detonators can be extended to _ v.eags on an yearly basis after testing detonators
from each lot of over 7 years. _
a) 7 & one b) 8 & two . c) 10 & one d) 10 & two
3P § A 1 qIhE AER T 74 qF QAT N GHT 8, 5 T | AT F 9AF W ¥ __ TER T
qferor & IIAA |
1) 7 IRTE & 8 A ar @M1 #) 10 3l &
30. The safety radius at the time of testing of detonators is meter
a) 10 b) 20 c) 45 d) 50
Pt 3 ol F T GO F @ R, W
) 10 41 20 ) 45 ) 50
31, The bottom most part of T/P & T/G shouldbe _____m above R.L. _
b) 1.55 c) 1.65 .d) 2.00

a)1.20



!
\.{J

a/tﬂﬁaa/aﬁmmﬁwmm.qa.aw ez g afen |
U) 1.20 a1 1.55 1) 1.65 %) 2.00

with curved switch 52/60 kg on PSC sleepers
c) 20 kmph d) 25 kmph

EEURRUE
%) 25 Fdt ufa =2

32. Permissible speed on 1in 8.5 turnout
a) 10 kmph b) 15 kmph 0k
Froadt =l w gAEER @ 52/60 B & @14 8.5 7 ¥ 1 7q9H T
v oo @) Rl ) 20 Bt sfa &2

33. Formation is classified on “very bad” when number of attentions received in a year are more than

a)6 b) 8 c) 10 d)12 . .
o F) "agd @UE" R aiiga R o &, o o a4 7 9 e & e A e ot 2
06 ) 8 M) 10 ) 12
34. Maximum permissible vertical wear on wing rail or nose of crossing shall be
a) 10mm b) 5 mm c) 15 mm d) 20 mm
Rt X o @irem it A1 R AfRwan s afdwe R gm
) 10 firdt #) 5 frft ) 15 ferdt #1) 20 o
35, OMS equipment measures
a) Ride Index b) CTR c) TGI d) Performance index
SIQHTH ITFOT ____ AT @
T) WIS 13 &) CTR ) TGI ERieaccee
36. Recommended throw of switch on BG is
a) 95mm b) 105mm c) 110mm d) 115mm
fifEEF___ aEEear g :
1) 95 Rt & 105 Pt @) 110 Rrft ™ 115 e
37. Station-to-station versine variation permitted for 110 kmph speed is mm.
a) 15mm b) 10mm c) 20mm “d) 40mm
110 ot wfer &2 it 713 & e 2w & 2w gt fma $r st a2
) 15 fedt 41 10 Rt 1) 20 et g1 40 Pt
38. The standard playon B.G.is _____
a) 25 mm b) 19 mm c) 20 mm d) 15mm
H A AR FRX___? '
1) 25 firft &) 19 fredt ) 20 faedft ) 15 fefi
39. Track Geometry to be achieved after track maintenance should beé better than
a) New Track Tolerance b) Maintenance Tolerance
c) Service Tolerance - d) Safety tolerance
&F WA & a1z ifae $Y 5 gl 3F N A dew @ TR
©) 7§ & Feiterar at) T agAvitera
aft) S |fgwE ) e geAeierar
40. Radius of a 5” curve is
a) 1750 ' b) 875 ¢)350 d) 550
5° T 9 BT & . :
T) 1750 ) 875 1) 350 &) 550
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41. For ballast supply on B.G. the maximum permitted aggregate abrasion valueis___

a) 10% b} 20% c)30% d) 40%
&<t gv firdt ey 3 R s o o o T @
T) 10% #l) 20% #) 30% &) 40%

42. For ballast supply on B.G. the maximum permitted aggregate Impact value is

a)10% ~ b)20% c) 30% d) 40 %
&t <ft. w Pt s % R siffremere argaa ot e TR ©
w) 10% - 1) 20% @) 30% - =N 4%

43, The permitted range of % retention on 40mm square mesh sieve in case of machine
crushed ballast.

€)10-20 © b)20-40 c) 40 - 60 d) 60 - 80
wﬂﬁgﬁaﬁﬁ%mﬁﬁmfﬁwﬁaﬁmwm%mﬁmﬁm I
T) 10 - 20 &) 20 - 40 ) 40 - 60 2) 60 - 80

44, Proposal for through fastenings renewal should be initiated when
a) 20% or more of sample size records toe load below 400 kg & confirmed by 5% sample size
b) 20% or more of sample size records toe load below 600 kg out more than 400 kg.
¢) 25% or more of sample size records toe load below 400 kg & confirmed by 5% sample size.
d) 25% or more of sample size records toe load below 300 kg & confirmed of 5% sample size.
¥ e 3 Ao A T 1 S 79 Y R o iR @
Q) AT ST 20% A e Fetd G A ST F AR 400 el ¥ F9 3R 5% T AR 71 G H

It & :
aﬁ)mfna:mtmrzo%znu&;moﬁmﬁwmﬁaﬁm%ﬁooﬁ:ﬁumﬁﬁﬂtﬂaiﬁmmﬁﬁim%l

*efrJmm'ﬂzs%mwﬁmﬂqﬁéﬂtﬁaﬁﬁhwwmomﬂwaﬂzs%}wmmg&ﬁ

st 21 -
&) T AER F 25% A A 300 B A A R A st 1 9w R e &1 3R 5% T MR F e

F1

45. Lubrication of ERCs shall be done in corrosion-prone areas-

a) Every 3 months b) Every year ¢) Once in 2 years d) Once in 4 years

?m.@&maﬁmmﬁa‘fﬁﬁ?ﬂrm :

R 3 TR &) wa= MoamAFEaR ) 4 T H T aR
46. Acceleration peaks exceeding following is taken for track quality assessment on BG high sfneéd routes.

a)0.2g b) 0.15g c) 0.35g d)0.3g

ot 3= T AT W & Apure g & o Pt & it oo Re R s @

) 0.2g ) 0.15¢ ) 0.35¢ ) 0.3g

47. Which Index is based on SD Values -

a) CTR b} A, B, C categorisation c) TGI d) OMS
aﬁqmqﬁmmﬁ.qfﬁﬂtmﬂlﬂﬁ%— _
" ) iR ) u, @, g iiww @) Ieframg ) AT
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ks exceed
| & lateral acceleration pea
ioni ired at all locations where vertica ot
483;!635? attentionis reu:p.:::J et o ;} . N

= TR I @ g T Y § Sl € el a9aq aﬁzm&fma’tﬁiﬁﬁ) Oaf??g

T) 0.2g &) 0.15g & 308 .
i I tepost.

49. Height gauges should be located at a minimum distance of __ ;n} l;r;m the gatep

a)6 b)8 c) 10 _
ST AT 49 Nedrw A FT A FH A i g W f@ua g =i
06" 4h 8 @) 10 &) 20

50. As per IRPWM one speed breaker should be provided on either approach of level crossing located within the

railway boundary at a distance maximum feasible but not exceeding m.
a)s b) 10 c) 20 d) 30 -
IRPWM%WWW%W%W#MﬁWWWW@WW@“3 W feh

ST e, S ez § s 7@ 1

)5 &) 10 ) 20 #) 30
51. Minimum number of gate keepers on "B” class level crossing should be
a)1 b) 2 c)3 d) 4
"F" it F FHIRT T ERITE A AaH T Bt =Ry '
Y1 ) 2 3 ) 4
52. What distance from a danger location should 3-detonators be fixed on BG? :
@) 270 mtrs b) 600 mtrs c) 800 mtrs d) 1200 mtrs
et R 3-3 5t @ At = | et 28w s o SR
1) 270 "X ¥ 600 ez - ) 800 Hiw #) 1200 F=
53. After emergency repairs to fracture in LWR Track, the first train has to pass at a speed of
- 3) Stop Dead & 10 kmph b) Stop Dead & 20 kmph . c) 20 kmph d) 30 kmph
TASRYHR 3 § thaa & fOre simareeprets woma & 91, wzﬂﬁﬁﬁﬁwm%
1) ®ig ¥z 3k 10 fFft o &2 - #t) =T ¥ 3k 20 R o
) 20 fift wfr g2 81 30 et i o= ;

54. Clearance between Guard rail and Running rail on bridges in case of BG track
a) 250 + 50 mm b) 200 + 25 mm €) 150 + 25 mm d)25+25 mm

At 3 % At 3 qEi O Yo ol A Y A gd

1) 250 + 50 firdt #h 200 + 25 et ) 150 + 25 Frlt ;) 25 + 25 Beft
55. Check rails should normally be provided where the radiusis ____ m or less in B.G. |
a) 158 b) 258 c) 318 d) 218
o & < T S 79 A v H e Ay e Bear __ fim o ss@ w2
- Q158 ) 258 ot 318 3 218
56. Minimum depth of space for wheel flange from rail level in B.G is mm.
.a)18 b) 28.5 c) 38 d) 44
ot ¥ 3@ wR § =i Wi & e & $ e Tead et 81
T) 18 &) 285" @) 38 3 44
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57. Maximum and minimum heights above rail level for B.G. high level passenger platforms are mm &

mm.
a) 840 & 760 b} 950 & 1050 c) 1680 & 1
: 670 d) 1690 & 1575
W%ﬁwmﬁwmwm‘ﬁ.mﬁw firft 3fie it 2
m 8403760 ) 950 s 1050 €) 1680 k1670 ) 1690 M 1575
58, Dynamic gauge for BGis ? |
a) 1750mm b) 1776 mm 1676 d) 1057
o N c) mm ) mm
1) 1750 Bt . ) 1776 fesht ) 1676 freft ) 1057 ferft
59. The minimum cushion specified over an arch bridge is __ meter
a) 0.5 b) 0.6 1.0 d)1.2
o ad B = Rffe g e AR
T) 0.5 @) 0.6 & 1.0 ) 1.2
60. Maximum permissible gradient on LWR is :
a)1in100 b) 1in 200 ¢) 1in 300 d) 1in 400
LWR R 3fiaan 334 39 & _ '
1) 100 7 1 - dy200%1 : &) 300 # 1 &) 400 ¥ 1

61. Hot whether patrolling is to be introduced in LWR territory
£ a) When the rail temperature goes beyond tm + 10
b) When the rail temperature goes beyond td+10
¢) When the rail temperature goes beyond td +20
d) When the air temperatures goes beyond tm + 20

nﬁqﬁaﬂt{mﬂmmﬂmwﬁaﬁ%
q)aﬂ’mﬁrammtmuo.%aﬁﬁs’tm%
d’t)aﬂ'taammmtduo.ﬂaaﬁmﬂm%
) o T A td +20 . Q A & s &
a&}mwmmﬂﬁtmdo.%aﬁiﬁﬁm%

62. Maintenance operationsina LWR should be restricted toa temperature range of .
a}td+10totd-—30 b)td +5totd =25 _ c)td to td—20 d) td + 20 to td - 20
trélﬂ.m'{ﬁ me%wﬁmzﬂﬁmﬁmmﬁn
A + 10 F A - 30 HIR 538 -25 @M ERA&R - 20 ) AR+ 207 - 20

63. Generally, while perfoming through packing man ually on LWR, opening of sleepers is limited to -

a) alternate sleeper to be opened

b) upto 100 sleepers to be opened at a time

c) no restriction but the temperature restriction to be observed

d) only 30 sleepers to be opened within 3 temperature range of td + 10 and td - 300C.

a;msﬁqu,qagﬁmmﬂﬂmmﬁ&ﬁw#mm%uﬁhmw,ﬁﬂnﬁﬁ@mﬁmm%-

1) R SR e

ﬁ)@mﬂioowﬁmaﬁ@ﬁmm%
@ﬁ)aﬂ%uﬁﬂﬂqﬁﬁﬁﬂmqﬁmmmaﬁu |
zﬂ)aﬁénmmaﬁ-sommﬁwﬁ#mmmﬁﬁm@ﬁml

= -
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64, Finishing tolerances of welding are measurecay b) 1 M straightedge or 10 CM straightedge

a) On 30 cm scale - '
c]] On 15 cm straight edge d) On 30 cm straight edge

S 5 RERRIT ciokE e a1 AT o &2 - N
) 1 Hex €2 4110 A €T

©)j 30 Tt & W
@) 15 Sf dg Fmeow . é’r)wé‘?ﬁ?ﬁﬁ‘ﬁmﬁtr{
65. DFWR weld shall be replaced __ ) o
a) Within 2 months of detection. b) Within 1 year of dEtEFtlon.
c) Within 3 months of detection. d) after 3 days of detection.
DFWR 97 1 ager smen ___ .
| Q) ga T ¥ 2 7R F ofia oty war oY F 1 @d & iR
@) g A F 3 7R F o &) e A F 3 RAT F

66. Theodolite is an instrument used for
a) Tightening the capstan-headed nuts of level tube

b) Measurement of horizontal angles only

c) Measurement of vertical angles only
d) Measurement of both horizontal and vertical angles

Q) AT SF F FUET-EIT TG F FEA
) Fawr @feer Foit F:1 AT

) Faer Seater FN H AT

&) Qﬁaaﬂtﬁtﬁfﬂtﬁﬁﬁvﬁﬂm

6? If an LWR is tobe laid over a girder bridge the type of rail sleeper fastenings to be used are -
a) creep resistant fastenings b) rail free fastenings
c) elastic fastenings d) rigid fastenings.

afe & e R Ceresgan e s @ o B R 3 W wi e w1 agdn R o -

Q) by s 1) W % wrefig
dt) SR = - &) FBR A

68. The main advantage of a cement concrete sleeper, is:
a) Its heavy weight which improves the track modulus

b) Its capacity to maintain gauge

c) Its suitability for track crrcumng

d) All the above .
e Fwhie IR F1 q&A 19 &:
Q) TR AT I S 3 Aiegerd F FAR FT 2
) 1 T 7@ F TR g

) &= giEHeT F oo s h sqg?ﬁm

) Iwrew Tt :

10



69. Continuity of electric current across welded rail joints, is maintained by
a) Welding ends of a wire to each rail
b) Placing an insulated plate underneath the rails
c) Placing insulation in expansion gaps
d) None of these

e W Sigt ¥ e war F Friawar it @ an s @

MECERCERS A CELE R Sulat
) @ F A OF Seies wiE @A
B FEr aus # TgeeE @A
&) T & B A6
70. Fish plate is in contact with rail at __
a) Web of rail b) Fishing plane ¢) Head of rail d) Foot of rail
e S quF A} | |
T) & H 3 ) 7o a@ ) @ @ fa ) @ #1 W
71. Maximum accumulation of LAP is days
-a) 100 b) 200 c) 300 d) 400
et F1 SATEEHaH §99 Rad
T) 100 & 200 €M) 300 #) 400
72. Paternity leave for male Rly. employee is eligible for ___days.
" )5 b)10 €15 d) 20
9 & aﬁaﬁ#%‘qﬁqamm___ﬁm%mmgl
W5 @) 10 ah 15 ¥ 20
73. The Standard Form (SF) used for minor penalty charge sheet is
a) SF 5 b) SF 1 c) SF11 d) SF3
m@ww_#mmmmmmﬁ(m)__%
1) TETE 5 4f) TETF 1 i) THTHI &) THIF3

74. 1n case of major penalties, the final orders passed by the disciplinary authority, giving reasons for, are known
as

ki b) Penalty ¢) Punishment d) passing _
wﬁg:%ﬁ,wm@, mﬁmﬁﬂmqﬁaaﬁﬁqm, ¥ w9 § 9 9 §
", e ) gt &) &= &) i
il i dbyits ____ ‘ _
75;)?:“;: ; dESISﬂﬂteb) \f:l;ight ¢) Cross-section d) Weight per unit length
ES v =t B TR . o - o
1) AT ) T4 &) FE-TEE ) ae vl g SR

76 Whatl is speed restriction on deep screening site done by BCM and tamped by machine
“followed with DGS?

. b)30 Eyen gl
aIZ?BCM)mmmmﬂﬁthmmﬁqgﬁﬁqm&ﬂﬁuﬁaﬂaﬂT%.ﬁGﬁQ'H{DGS}%W?
1) 20 #) 30 ) 40 10 |
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d) Traffic variation ypj,

77. TVU is abbreviated for ' . it
a) Track vulnerable unit b) Train vehicle unit ¢) Total vehicle uni
TVU 1 &f2m w9 2 o ;
. 5 = T <) grawr BE 3

Q)?*Wﬁl'{ ) 37 A T

78. The breathing length f '
8 length of an LWR exhibits movement o d) none of the above.

}sleeper alone

a) rail sleeper frame b) rail alone
T LWR R g Y fremrg _ $ iy = el Fdt 21
qﬂaﬁﬁmam o) WA W ) et = g e ¥ & T
79, The side slope of formation in emhankmem is___
a)2:1 - b)1:1 c) 1:5 d)1:3
deay % T3 W o Fe & T
Y21 M 1:1 #us o 3o

80. A temparary enclosure in a river built around a workmg area for the purpose of excluding water during
construction is known as:

a) Caisson 'b) Cofferdam c) Augur d) sheet pile wall
W*Wﬂﬁwﬁ%mﬁ@m 8B & 91 AR Pffa 78 § oF et a2 F Y S o &
T). 3 ) Frowedy 1) iR ) fie arw afe

81. The catch water drains are provided in the it
a) formation in the embankment
c) formation in cutting

b) zero fill formation
d) steep gradient

¥ et Prreht et 6t e S mé & \ _
u) deay ¥ TE | : #t) Y= W TET
& AT &) dm 7

82. What is the meaning of SBC of soil?
a) Simple Bearing Capacity
c) Soil Bearing Capacity

b) Safe Bearing Capacity
d) None of the above

gt & qweiteht @ @ 3 @2
Q) | AHE o ) gt SR e
) 37 gwer amar 2 ITAH | § Fg T o
83. Fixed point of known R.L is knownas __ !
a) Benchmark b) Fixed mark ¢) permanent mark d) all of these
TRRLFPARG g __ Fsydsmomg ,
T) ¥ 9 o) fhae =1 ) =t 7 &) A oft

84. What is the purpose of sleepers in railway tracks?
a) To provide comfart to passengers
c) To support electrical components

.b) To distribute the load from the rails to the ballast
d) To prevent trespassing on the tracks

o 3 7 wihed @ an IR @
) G} Y IR A ) & & Ime o= ar Fi e Fon
) gefRFS FHE F THH F 2 &F W HIY T JHAT
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85. The standard length of rail for Broad Gauge and Meter Gauge are respectively

';2{.;3: ;:::%;mﬂa N %‘Qit: g ;";;dﬁ_ggmm: : c) I13 mand12m d) 13 m and 1?,. m
Q) 12 WK AR 12 AR ] &) 12 #re 3R 13 WX
) 13 2 MR 12 A ) 13 et 3R 13 Fe
86. Which of the following tests are used for determining the properties of soil?
a) Proctor Test b) Vane shear tests
c) Standard Penetration Test’ d) All of the above
ﬁﬂ%ﬁﬂﬁ%ﬁﬂ-ﬁﬁﬂﬁﬁ%ﬁ#ﬁaﬁiﬂm#ﬁmmﬁmmé?
Q) Wa & ) e
&) S=HE ham e &) Indres ot
87. Which method is used for determining the elevation of points?
a) Traversing b) Contouring ¢) Levelling d) Triangulation
.ﬁgﬁﬂ&aﬁmﬁaﬁmaﬂ?{%ﬁmmﬁﬁf&waﬁmﬁﬁmm%’?
v @ &) Ffer &) &) ST
88. What is the height of 60 kg rail section?
2) 180 mm b) 172 mm c) 185 mm d) 165 mm
60 Frett T @ i Sk R @2
S 180 Brft - #) 172 el ) 185 Bt - 3 165 i

89. What is the full form UTS of rails?
a) Ultimate technical Strength
c) Upper Top surface

b) Ultimate tensile Strength
d) None of above

o 1 o &9 S @2
1) 3ifam g ared &) T T uie
) Sl Wd @ ) IS *F IE T

90. What dc you mean by RDSO?
a) Research & Development Standard organisation

b) Railway Development & Standard organisation
¢) Regional Development & Standard organisation

«lone of above

T A T F T €2
) AU T e A W
&) Yo R SR AT ST
) g e SR AAF e
&) I 7§ BT

i3



croup B / - A

a ballast in railway tracks?

91. What is the purpose of b) To prcwide drainage

:}l I:: :::gtoaritnt:r‘:lzzllaiignment - d) All of the abave
W &% T A T A1 IV ©7 ' _
) &t 1 FEdT F dt) $A W& AT

) &= & Fegor I @A &) TS

" 92.What s the full form of TGI? |
O e et c) Track gravity Index d) None of above

a) Track Geometry Index b) Track general Index

&g &1 qof &9 7 @2 :
Q) & S S3F ) IF s R ) &= I 2 &) I # & FE AR
93. The grade comhensation on B.G. tracks on Indian Railways, is _
a) 0.02% b) 0.03 % c) 0.04 % d) 0.05 %
Rt RIS g R wmHF R
T) 0.02% 4 0.03% @) 0.04% 2) 0.05%

* 94, For works of short duration, when train has to stop at worksite, then hand signals shall be exhibited at /

, ,and __° m. in case of BG
a) 30, 600, 1200 b) 30, 400, 800 c) at spot, 400, 600  d) at spot, 270, 540
F oA ¥ FTA & R, o 37 9 FRieE o T e S, A e ¥ it A S e w
vt frar s st & A #§
T) 30, 600,1200 &) 30, 400, 800 ) H1F W, 400, 600 2) " |, 270, 540
95, MSL stands for ___ .
a) Mean Standard level b) Maximum Sea level c) Mean Sea level d) all above
TATHUS T AAdT & ' '
Q) e AHF &R ) e wHE &R W) ST TR w=R &) IR it

96. Earthwork in embankment for railway with manual compaction should be done in layers not exceé{r[-‘ L
a) 10cm : b) 20cm c) 30cm d) 50cm '
W ¥ forg qeay F A7 SR § A B 1 m @t § G e ek :

T) 10 9 @) 20Ff . @) 30 R &) 50 At

97. What is the ;irimarv function of a retaining wall?

a) To provide aesthetic value
c) To resist lateral soil pressure

b) To subport roofs
d) To act as a sound barrier

QT 7t 1 g w7 @2 _
1) el qra wTH F ' &) Tt F awda F
o) whvge frdt F <o F1 a0 ‘e?r)aﬁrm%mﬁm_m
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98. What is the primary purpose of rail grinding in railway track maintenance?
a) To reduce rail wear and tear

b) To prevent rail corrosion
¢) To improve rail conductivity

~ d)Toremove surface defects and restore profile geometry
ToR & Tt # W AR F A I8 R
%) T ¥ IEE R H B @) X & FEm F T
) Y= ¥ e B U ) e 2 8 g A ST T i

99, Inspection of foundation & substructure of Bridges is done by which of the following
a) BRI b) SSE/P.way c) SSE/Works d) None of the above

gﬁﬁﬁammﬁmmﬁﬁmmﬁ%ﬂﬁ%%mﬁmm%p
) . AE. M wwmy fa &) warEy/aH &) I H @ FIE N

100. Continuous Welded Rail (cwi-z) is preferred over jointed rail because:

a) It is cheaper to install
b) It reduces maintenance costs and increases track stability

r\ c) It is easier to manufacture

&

" d) It requires noO ballast

@mﬁwﬁma@zmmﬂmqﬁmm'am%ﬁm

a)zﬁﬁ'-‘frﬁmm% .
ﬁ)mwmaﬁtmw%aﬂtiﬁﬁw#m%‘
n)mﬁqfwmam%
a)zﬂ%mﬁﬁ@ﬂﬁ@ﬁmaﬁ%
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" 101, "GRETAEF" = 1 34 @ 82

) | ) TER @) gmfn &) FHATTAT

102. g fafa 9 R #1 gerwman a9 @ Gofg far a1
Q) 26 594l 1950 §o & 14 Ra=r, 1949 %o
;ﬁ) 14 REmw, 1950 %o ) 15 2T, 1947 $o

103. "3 7R oz wen F w3 Qe 2
) F15 3=t a1 Ay arch R | &) sremateua @1 st et
) =15 &y § wee § w8 &) wr farfa # sigawr 1 AegE

104. "IV 1 37 T BN @2

e - &) s - &) g ) i
105. ¥ &1 QI = & P
T) FEN : DI o A &) T

106, 3" 1% 1 Rdard & &2

T) AR ‘ ) @ T i &) o
107. ‘Ten’ F1 Rrodard® v= Tage? : _

) 7% MHEE B VR &) FTHFFE T
108. sty =1 faeim o3 @ _

T) A ) s ' ) s &) T .
, - . =l
109. & FC e F1 4 FATTC ‘

T) Tga e g | &) Se-FER A ge

&) aga AR A ) =ga T s

110. "3q =T FEEAT" I F o B @2
) et ot an sifra et Frf & o
1) s SR @ R # afe e
) Pt Praff v &1 aitafda Fem
sﬁ)ﬁm"lﬁaﬁ{ﬂmmm
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